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01, O g R o yruw TP 10 cm a AB ST o€ 14 cm | % ZAOB @¥ IR (3% T @T 5% AB 0
T AB T TAE WEOR vy cwarew Ry [BUET'17-18]

e e, TR TP r = 10cm , AB St s = 14 cm

mmﬁ,s=rB=B=E=-E=1.4“[mﬁml(Ms.)

TR (T = JuT AOB & cwqww- AAOB &% (WO = - X 120 — > X r? 5in 6

==X r?(8 - sing) = -r2{1.4 —sin(1.4° )} = =% 10 X 10{1.4 - sin(1.4 )}

=50 - {1.4 — 0.985)

[Note: 8 & T QAR w1Tx | T Wergewder B Mode <re sin (1.4 X %) OF T (W T L | |
= 50 X 0,415 = 20.73 of &.f. (Ans.)

02. T cosa+ seca = ::-w. cos™ a + sec™ o 4% T fAefyy = | [BUET'17-18)

1
cosa

cos‘a+l _ 5

TRIYN: (ST T, cosa+seca=§-= Cos o +

2cos®a+ 2 = 5cos o
2cosa—5cosa+2=0=2cos?a~4cosa—cosat+2=0
= 2cosa(cosa—2)—1(cosa=2)=0= (cosa~2)(2cosa—1)=0

:cosu—z=0=cosu=2;ﬂﬁw|w2cnsa—1=U=>cnsa=%

5
2=>

Cos & 2

o A W9 = cos™ a + sec™ o [cosa = % A

= cos" ot + —— = (3)n+(-%-)n=2“+_1_

cosa 2
oA Refir 3w = 20 +
03. Prove that 4(sin’ 25° + cos’ 5°) = 37/35in55° [CUET’13-14]

T 4sin’ 25+ 4c0s’ 5 =3sin25—sin75+cos15+3cos5 = 3sin25 —sin7S + sin 75 + 3sin 85
=3(sin85+sin25) =3x2sin55cos30 =3+/3sin55 [Proved]

=

MCQ

01. ABC f¥gtem AB = 5 cm, AC = 12cm @32 £BAC = 35°, BC et Ssueiind 3 wawe @ 4 af2s: @ Bl
=W SRS (TI5T+ 92 [SUST'18-19]
(a) 145° (b) 185° . (c)215° (d) 192° (€) 245°
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02.

03.

04,

05.

06.

07.

08.

A

350
Y (c); D <

C E

3258 LABD = £A + 2C ; 3fEsF LACE = 2A + 2B
;. IRs¥ £ABD + &g LACE = 2A + 2B + £C + £A = 180° + 35° = 215°

zcmmﬂwmmmmfﬂwﬁwﬂwnwwmwﬂmz? [SUST'17-18]
(@) 21.5 (b) 20.5 (c) 22.5 (d) 23.0 (e) 23.5

i
A (a); ' sinE=%=>r=2.61 cm; A =mré = 21.5 cm?
T 0° < 6 < 180° T, U2 jz + Jz + [ oe e o + 2(1 + c0SB) =7 (N TLH 2) [RUET’14-15]
(a) 2 cos ;_1 (b) 2 cos -:;1- (c) 2 cos ;ﬂ (d) 2 cos "TB (8) 2 cnsz—an
WRIYH: (b); When number of ‘2’ is one then, \/2(1 + cos8) = 2{'.052
1 flrgrers i ey oW 22.5° @ 112.5° @ firgrew Swet h T ot w? [RUET’14-15]
(@ h (b) 2h (c)!;- (d) % (e) None

HYIR:(b):

¢, frgerda B x I ot oy e A b |

h

dY¥¥, bsin1125°=h=b=

sin112.5*
h

: S D IR i
Sine rule mm’ sin45*  sIn22,5*  sin22.5° X =2h

afb JUBT FTE 24° et Tl I | AW J0Ew [T 49 WOR T O @ I oo 797 [BUTex'16-17]
(a) 125.72 sq. meter (b) 124.72 sq.meter (c) 123,72 sq. meter (d) 122.72 sq. meter

' fa)e I s\ 2 _ 2
’i‘ﬂl"ﬂ‘ﬁ.(ﬂ),m—amxnx(z) m* = 125.72m

cos 20 =-§—§—EC'T tan® 97 AW IS? [BUET’13-14]
5 1 1
a) £7 b) £ = C) +— d) £—
(a) (b) - (c) - (d) -
1-tan’0 24 . |
: (), = Solving = tan6 =+ —
TR 1+tan’@ 25 HAEe T SR 7
i 7 o7 : sin 18° + cos 18° [RUET’13-14]
(a) sin 36° (b) 2—sin 47° (¢) —-—\/Zcus 27°  (d) J 2cos27° (e) None
aiy: (e) ; Use Calculator. ‘sinl8°+cos18° =+/2 cos27°.
cos198° +sin432° +tan168° + tan12° «g Wi« vs? : [BUTex’13-14]
1
(a) 0 (b) -1 (¢) 1 (d) -

2
FAYH: (a) ; using calculator

—




